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All the boxes below should be complete. I would really like to see what you have written, to see if I think that the boy can follow the instructions. If you email me a photo of your work, I will give you some feedback!
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Eact families

A fact family is a group of maths facts that use the same numbers, for
example:

1+4=5
4+41=5
5=4+1
5=1+4
They all use the numbers 1, 4 and 5

19000000 210000000 0

442 -6 7+3 =10
2 +4-6 3+7=10
6oas 2 10=7+ 3

10= 3 +7

6= 2 +4
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The large carrots and the small carrots.  The large carrots and the small apples.
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3+5=8 8=3+5
5+3=8 8=5+3

6+4=10 10=6+4
4+6=10 10=4+6

5+16 6=5+1
14526 6=1+5
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Is Eva right or wrong”? Use the part part whole to help you.

10) 13=15+2 @
. N (12
Eva is wrong/+ght because \:I 5
N

13 _is a part/ the-whete. 6

Challenge

Which calculation is wrong in this fact family? Correct it and explain why.

4+10=6 4+6=10

6+4=10

10=4+6

10=6+4

4+10=6 is wrong, because _10 _is a-pa#t the whole.

or
4+10=6 is wrong, because 6 _is a part/ the-whele:




